
 

SAP EDUCATION 

SAMPLE QUESTIONS: C_BOE_30  
 
SAP Certified Application Associate - SAP BusinessObjects Enterprise XI 3.x 
 
Disclaimer: These sample questions are for self-evaluation purposes only and do not appear on the actual certification 
exams. Answering the sample questions correctly is no guarantee that you will pass the certification exam. The 
certification exam covers a much broader spectrum of topics, so do make sure you have familiarized yourself with all 
topics listed in the exam competency areas before taking the certification exam.  

 

  
 

QUESTIONS 

 
 

1. You want to use the Import Wizard to import objects from a test environment into your 
production environment.  
 
Which settings must you select to maintain the rights associated with the imported objects?  
 
Note: There are 2 correct answers to this question? 

 
 

a) O Import user groups  
 

b) O Import users  
 

c) O  Retain security  
 

d) O Enforce global security 

 
 

2. Which factors must you consider in analyzing the reporting requirements that must be met by 
a BusinessObjects Enterprise system?  
 
Note: There are 2 correct answers to this question.  

 

a) O The number of predefined templates instances 

b) O  The number of projected instances for all reports on the system  

c) O The number of viewing requests by geographic location  

d) O  The transaction isolation level of the reporting database  

e) O  The number of users who will view existing reports instances 



 
 

3. What option do users have for viewing reports in the Central Management Console (CMC).  

 
Please choose the correct answer. 
 
 

a) O  They can choose any viewer that is available in the CMC 
preferences.  

b) O They can view reports only with the CMC viewer.  

c) O They can view reports only with the DHTML viewers.  

d) O  They cannot view reports in the CMC, only administer the 
content. 

 

4. Which Web Intelligence Processing Server parameter enables or disables List of Values (LOV) 
caching per user session?  
 
Please choose the correct answer. 
 

a) O Enable Real-time Cache  

b) O Share Report Data Between Clients  

c) O Enable Cache-By-Name Access  

d) O Enable List of Values Cache 

 
 
 
 

5. Which statements describe the relationship between a Remote Connection and a Replication 
Job?  
 
Note: There are 2 correct answers to this question. 
 

a) O  A Replication Job can only have one Remote Connection.  
 

b) O  A Remote Connection can have only one Replication Job.  
 

c) O  A Remote Connection can have one or more Replication Jobs.  
 

d) O  A Replication Job can have one or more Remote Connections. 

 
 

6. What are major steps that you must perform when creating a logical content plan for your 
BusinessObjects Enterprise implementation?  
 
Note: There are 2 correct answers to this question.  
 



a) O Create profiles for encyclopedia distribution.  

b) O Specify group access levels for folders and objects.  

c) O Create BusinessObjects Enterprise server groups based on 
geographical considerations.  

d) O Organize users into functional groups. 

 
 

7.  Which object is retrieved from the Input File Repository Server when refreshing a Web 
Intelligence document?  
 
Please choose the correct answer.  
 

a) O Document Instance  

b) O Publication  

c) O Universe  

d) O  XML Schema 

 
 

8.  Which servers are used when viewing a Voyager workspace?  
 
Note: There are 2 correct answers to this question.  
 

a) O Adaptive Processing Server  

b) O Input File Repository Server  

c) O  Muli-Dimensional Analysis Server (MDAS)  

d) O  Report Application Server 

 
 
 

9.  For the Web Intelligence Processing Server, what is the recommended service threshold for 
the "Maximum Simultaneous Connections" per CPU?  
 
Please choose the correct answer.   
 

a) O 25 per CPU  

b) O 50 per CPU  

c) O  5 per CPU  

d) O  10 per CPU 

 
 
 



10.  Which scenarios describe horizontal scaling of a BusinessObjects Enterprise?  
 
Note: There are 2 correct answers to this question.  
 

a) O Installing another Crystal Reports Job Server and Crystal Reports 
Cache Server on a new server machine 

b) O Upgrading the existing BusinessObjects Enterprise server 
machines with more RAM and faster hard drives 

c) O  Creating an additional Crystal Reports Job Server on the same 
quad-processor computer 

d) O  Adding another Crystal Reports Processing Server to an existing 
BusinessObjects Enterprise server machine that has unused 
capacity 

 
 
 

11.  What type of objects does the Input File Repository Server store?  
 
Note: There are 2 correct answers to this question.  
 

a) O Instances  

b) O List of Values  

c) O  Reports  

d) O  Business Views 

 
 
 
 

12.  What is an advantage of configuring the Crystal Reports Processing Server service to run 
under a domain network account rather than the default Local System account?  
 
Please choose the correct answer.   
 

a) O Providing the service access to a Central Management Server 
that is installed on a different system 

b) O Enabling access to an Input and Output File Repository Server 
(FRS) that is installed on a different system 

c) O  Enabling the services to start automatically when the system 
boots 

d) O  Providing the service access to the network printer driver for 
report rendering 

 
 



 

13.  You want to adjust processor scheduling on your Windows server to optimize it for 
BusinessObjects Enterprise.   
Which performance parameter do you modify?  
 
Please choose the correct answer.   
 

a) O Background services  

b) O Fair queuing  

c) O Start-time fair queuing  

d) O Programs 

 
 

14.  You attempt to login to the Central Management Console and receive the following error 
message: "Unable to retrieve cluster members." You confirm that you have network 
connectivity with the Central Management Server (CMS) host, but discover that there is no CMS 
running at port 6400.  
What is the cause?  
 
Please choose the correct answer.   
 

a) O The ODBC DSN that points to the system database was deleted.  

b) O The Web Connector is improperly configured on the Web Server. 

c) O The Tomcat Web Application Server (WAS) is stopped. 

d) O The Primary CMS in the cluster has stopped. 

 
 
 
 
 
 
  
 

SOLUTIONS 

 

1 a) Correct 2 a) Incorrect 3 a) Correct 4 a) Incorrect 5 a) Correct 

1 b) Correct 2 b) Incorrect 3 b) Incorrect 4 b) Incorrect 5 b) Incorrect 

1 c) Incorrect 2 c) Correct 3 c) Incorrect 4 c) Incorrect 5 c) Correct 

1 d) InCorrect 2 d) Incorrect 3 d) Incorrect 4 d) Correct 5 d) Incorrect 

  2 e) Correct      

6 a) Incorrect 7 a) Incorrect 8 a) Incorrect 9 a) Correct 10 a) Correct 

6 b) Correct 7 b) Incorrect 8 b) Correct 9 b) Incorrect 10 b) Incorrect 



6 c) Incorrect 7 c) Correct 8 c) Correct 9 c) Incorrect 10 c) Incorrect 

6 d) Correct 7 d) Incorrect 8 d) Incorrect 9 d) Incorrect 10 d) Correct 

     

11 a) Incorrect 12 a) Incorrect 13 a) Correct 14 a) Correct  

11 b) Correct 12 b) Incorrect 13 b) Incorrect 14 b) Incorrect  

11 c) Correct 12 c) Incorrect 13 c) Incorrect 14 c) Incorrect  

11 d) Incorrect 12 d) Correct 13 d) Incorrect 14 d) Incorrect  

     

 
 
 


